



Tạo hàng chục để giải quyết các vấn đề.

Vd)  $15 - 9 = 15 - \underline{5} - \underline{4}$   
 $10 - \underline{4} = \underline{6}$

1)  $12 - 9 = 12 - \underline{\quad} - \underline{\quad}$   
 $10 - \underline{\quad} = \underline{\quad}$

2)  $12 - 6 = 12 - \underline{\quad} - \underline{\quad}$   
 $10 - \underline{\quad} = \underline{\quad}$

3)  $11 - 5 = 11 - \underline{\quad} - \underline{\quad}$   
 $10 - \underline{\quad} = \underline{\quad}$

4)  $17 - 8 = 17 - \underline{\quad} - \underline{\quad}$   
 $10 - \underline{\quad} = \underline{\quad}$

5)  $11 - 6 = 11 - \underline{\quad} - \underline{\quad}$   
 $10 - \underline{\quad} = \underline{\quad}$

6)  $12 - 3 = 12 - \underline{\quad} - \underline{\quad}$   
 $10 - \underline{\quad} = \underline{\quad}$

7)  $16 - 8 = 16 - \underline{\quad} - \underline{\quad}$   
 $10 - \underline{\quad} = \underline{\quad}$

**Câu trả lời**

Vd.	$\underline{5}$	$\underline{4}$	$\underline{6}$
1.	_____	_____	_____
2.	_____	_____	_____
3.	_____	_____	_____
4.	_____	_____	_____
5.	_____	_____	_____
6.	_____	_____	_____
7.	_____	_____	_____



Tạo hàng chục để giải quyết các vấn đề.

$$\begin{aligned} \text{Vd)} \quad 15 - 9 &= 15 - \underline{5} - \underline{4} \\ 10 &- \underline{4} = \underline{6} \end{aligned}$$

$$\begin{aligned} 1) \quad 12 - 9 &= 12 - \underline{2} - \underline{7} \\ 10 &- \underline{7} = \underline{3} \end{aligned}$$

$$\begin{aligned} 2) \quad 12 - 6 &= 12 - \underline{2} - \underline{4} \\ 10 &- \underline{4} = \underline{6} \end{aligned}$$

$$\begin{aligned} 3) \quad 11 - 5 &= 11 - \underline{1} - \underline{4} \\ 10 &- \underline{4} = \underline{6} \end{aligned}$$

$$\begin{aligned} 4) \quad 17 - 8 &= 17 - \underline{7} - \underline{1} \\ 10 &- \underline{1} = \underline{9} \end{aligned}$$

$$\begin{aligned} 5) \quad 11 - 6 &= 11 - \underline{1} - \underline{5} \\ 10 &- \underline{5} = \underline{5} \end{aligned}$$

$$\begin{aligned} 6) \quad 12 - 3 &= 12 - \underline{2} - \underline{1} \\ 10 &- \underline{1} = \underline{9} \end{aligned}$$

$$\begin{aligned} 7) \quad 16 - 8 &= 16 - \underline{6} - \underline{2} \\ 10 &- \underline{2} = \underline{8} \end{aligned}$$

**Câu trả lời**

Vd.	$\underline{5}$	$\underline{4}$	
		$\underline{4}$	$\underline{6}$
1.	$\underline{2}$	$\underline{7}$	$\underline{3}$
2.	$\underline{2}$	$\underline{4}$	$\underline{6}$
3.	$\underline{1}$	$\underline{4}$	$\underline{6}$
4.	$\underline{7}$	$\underline{1}$	$\underline{9}$
5.	$\underline{1}$	$\underline{5}$	$\underline{5}$
6.	$\underline{2}$	$\underline{1}$	$\underline{9}$
7.	$\underline{6}$	$\underline{2}$	$\underline{8}$